objekt podlazi
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TABULKA BYTU
byt typ bytova plocha  plocha plocha byt typ bytova plocha  plocha plocha
plocha sklepni  lodzie uzitna plocha sklepni  lodzie uzitna
koéje terasa celkem kéje terasa celkem
2+kk 50,57 m? 2,75 m? 12,26 m> 65,58 m> 2+kk  53,84m?2 3,15 m? 4,84 m? 61,83 m? om
3+kk 86,59 m? 4,68 m? 14,25 m* 105,52 m? 2+kk  51,21m?2 2,88 m? 4,84 m? 58,93 m?
1+kk 38,16 m? 1,75 m? 39,91 m? 2+kk 50,77 m2 2,88 m? 4,84 m? 58,49 m? om B
2+kk  51,21m? 2,88 m? 4,84 m? 58,93 m? 1+kk 25,69 m? 1,75 m? 27,44 m?
2+kk  51,21m? 2,88 m? 4,84 m? 58,93 m? 1+kk 25,69 m2 1,75 m? 4,84 m? 32,28 m? L am
2+kk  51,21m? 2,88 m? 4,84 m? 58,93 m? 1+kk 25,69 m? 1,87 m? 27,56 m? A
2+kk 50,57 m? 2,75 m? 10,77 m? 64,09 m? 1+kk 25,69 m2 2,05 m? 4,84 m? 32,58 m? L 6m
3+kk 80,59 m? 4,35 m? 17,87 m? 102,81 m?

Real

kontakt - T:731537 515 - T:777 283 443 - info@bcreal.cz - www.bcreal.cz - www.bytysylvan.cz




